ESis &2 LHEE T £2 DIN6500| = Z|A EHo|20 X|a22t 23
4 SFE M| 2 HEstE ol A SELICE Ol RE2 X[Oo HH &%
HE LR HEE Z2 &% HHIZ 71T 7|Ao

=N
D
0.8
| |
y I /‘ ——
W7
= i r=|=1
~ 3
< | 7 ! ! |
[ [\ [
D1 /
o) 5+
s e, 8
Z= 29
SHI =X HE
FEHS BN=&2% LiH| D D1 H L T LFAF
DIN 84 EE= 912
K0864.10 10 45 8 8 20 43 M4x10
K0864.12 12 53 10 8 20 53 M5x12
K0864.14 14 6,6 11 10 22 63 M6x16
K0864.16 16 6,6 11 10 22 63 M6x16
K0864.18 18 6,6 11 10 22 63 M6x16
K0864.20 20 6,6 11 10 22 63 M6x16
K0864.22 22 6,6 11 12 32 63 M6x16

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/2



© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com

2/2



